o ft ik = 0,42 x fy ¥ x my [MPq] »n, =0,4 + 0,6 (p/2200) fir p > 1400 kg/m?
» 1, = 0,78 fir p <1400 kg/m?

Festigkeitsklasse ~ Rohdichteklasse =~ LAC2 = LAC4 LAC6  LAC8 LAC10 LAC12 LAC15 LAC20 LAC?25

oy 2 4 6 8 10 12 15 % o

b g (0,5 0,5 002 | 0B | 108 L et 12 | 12 | 1ee | 241 286
b (1.4 1,4 052 | 08y | 108 [ 101 | 152 | 17 | 199 | 247 | 200
b g (1,60 | 1,6 026 | OB9 | 116 | 14T | 16 | 1e4 | 21| 250 | 306
fi (1.8 1,8 659 | oed | d2d | iso | 17| 195 | 258 | 96 | B0

fi oy (2,0 2,0 D68 | 100 |18 | 189 | 1834 s | 240 | D98 | B40



